
Subject: Re: Problem with mass constraint fit for two gamma 
Posted by donghee on Tue, 01 Jul 2014 08:57:29 GMT
View Forum Message <> Reply to Message

Hi Lu,

Left is for the D0 (gamma gamma) and right is after mass constraint fit.  

As you mentioned, chi2 is squeezed to 0 also in my case.
But I guess that the background issue is not connected with this problem of mass fitter.  
We need to solve matrix problem of EMC in the case of full simulation, then chi2 distribution
should be reasonable.   
 
Best wishes,
donghee
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